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Name %&'VJ.—

Write your name on this page and turn it in with your Scantron form.

Using complete sentences, differentiate between the pairs of terms in questions 46-48. (Do not
write the definitions.)

45. Borrelia (spirochete) — Aguaspirillum (spiral bacterium) (3) - ﬂm » Zc)
il o, o , 22020 )
24% PO AP CFT
46. Bacillus — bacillus (3) Qe nt. - N ‘WA

. BMJ&!/LJO @22 A gj‘ eLLd

47. Look at the gram-stained smear of yogurt on the front desk.
Describe the bacteria. (6 points)

Yo poo-acts i A2cta & posae

Sketch the bacteria, not the yogurt. —
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What is the total magnification? /0 X <v//7



